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QUESTION 1

Your customer has a requirement across their 10 warehouses, each with different users. They would like

that whenever a warehouse user logs in, their default warehouse should get populated.

How will you achieve this?

A. Set the profile option INV_DEFAULT_ORG_ID at role level for each role (different roles for different warehouses).
B. Set the profile option INV_DEFAULT_ORG_ID at site level.

C. Set the profile option INV_DEFAULT_WHSE_ID at role level (different roles for different warehouses).

D. Set the profile option INV_DEFAULT_WHSE_ID at user level for each user.

E. Set the profile option INV_DEFAULT_WHSE_ID at site level.

F. Set the profile option INV_DEFAULT_ORG_ID at user level for each user.

Correct Answer: F

QUESTION 2

Material is transferred between two subinventories within an organization via transfer order. The setup is complete and
the transfer order is created through the FBDI process. What is the primary interface data that needs to be completed in
the template?

A. INV_TRANSACTION_LOTS_INTERFACE

B. INV_SERIAL_NUMBERS_INTERFACE

C. INV_SUBINVENTORY_TRANSFER

D. CST_I_INCOMING_TXN_COSTS

E. INV_TRANSACTIONS_INTERFACE

Correct Answer: E

QUESTION 3

You are currently implementing Oracle Cloud for the Singapore entity of your multinational customer. Their
head office is located in Japan. Apart from Singapore, their other entities are using a legacy system.

Their requirement is to implement Oracle Cloud in such a way that at the end of the financial year, all their
financial reporting should be in Japanese Yen.

How will you fulfill the above requirement?

170-1073-20 Practice Test | 1Z0-1073-20 Exam Questions | 120-1073-20 Braindumps 2/3


https://www.geekcert.com/1z0-1073-20.html
https://www.geekcert.com/1z0-1073-20.html
https://www.geekcert.com/1z0-1073-20.html

VCE & PDF https://lwww.geekcert.com/1z0-1073-20.html
2024 Latest geekcert 120-1073-20 PDF and VCE dumps Download

GeekCert.com

A. Define one primary ledger with SGD (Singapore Dollars) as primary currency and use the reporting currency
functionality to provide the necessary data in Japanese Yen currency.

B. Define two ledgers one in SGD (Singapore Dollars) and one in Japanese Yen and transfer data of all the subledgers
in these two primary ledgers.

C. Define one primary ledger with Japanese Yen currency so that all the subledger data gets converted to Japanese
Yen automatically.

D. This requirement cannot be fulfilled.

Correct Answer: A

QUESTION 4

Your organization is planning for a periodic counting of individual items throughout the year. As part of this activity, the
user has loaded items to the cycle count but some of the items are not being considered when count schedules and
count sequences are generated. Which reason explains why the items are not being considered?

A. The Include in Schedule option is not selected to include the item for auto-scheduling.

B. The Cycle Count Enabled flag is not selected for the item.

C. The approval controls are not set up.

D. The Cycle Count Enabled flag is not selected for the inventory organization.

Correct Answer: B

QUESTION 5

Which three types of jurisdictions should be considered while designing the Enterprise Structure? (Choose three.)
A. Transaction Tax Jurisdiction

B. Labor Jurisdiction

C. Local Jurisdiction

D. Obligatory Jurisdiction

E. Identifying Jurisdiction F. Income Tax Jurisdiction

Correct Answer: AEF
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